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1. a) Solve the f‘ollowing system of linear equations by Gauss-Jordan el_iminatibn:

X+ 2y-z=1
- 5x+1ly-4z=6"
4x + 8y-3z=4

b) A construction company orders a total of 7600 nuts, bo'lts, and washers for
$462.21, including $28.21 in sales tax, In the order the total number of nuts
and bolts is 400 more than the number of washers. If the nuts cost 5 ¢ each,

the bolts cost 12¢ each, and the washers cost 3¢ each, how many of each are
in the order 7 -

2. You got a contract to make bolts. See the following figure for Spéciﬁcations.
Find the length X of the piece of stock needed to stamp the bolthead.
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4. Find the beltlength of the drive in the following figure:

) i:' ' 700 —— ‘ ﬂ



Page |4

5. Find X aﬁd Y in the following figure,

6. You have to program an NC drilling machine to drill the holes of the
boltcircle in the following figure:

)

~ Find the coordinates .of the hole A,



7. Find the coordinates of the point A in the fo'llo'wing figure:
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8. Find XandY in the following figure:




9. a) Solve for x the following equation;

V2x+1-V3x+4=-1
b) Find the equation of the parabola passing through the points:
(1,2),(=1,6) and (2,9).

. 10. 2) Find the radius and the center of the circle with the following equation;
X2+ 4 12x—4y-9=0

b) Find thw Yﬂme lmf, Arsanf infersertinanfiha rircle v? 442 - 42 -ﬂ;f_l;. :

ANSWERS™ | | |
1, 2) x==| ).5'-_-|) x| b) n=2100, b=1800, w=3600
2. x =B 57,0000 3 X=168, VNI4T
4 = 1856.304] 5. X=19.7538 , Y=6.I829

6. A= (577.1837,298.9298) 7 A=(s-),2(9~51))
8. X=20WFw52.3150 , Y=(82,8192)°

9.. CL) X:‘O oy X:L[ l &)) H:_E)XQ/-ZX‘fI



